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x1=float (input (' Js! sac="))
x2=float (input (pgo sac="))
if XxX1>x2:
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b=float(input(‘'ss L o, Jsb="))
c=float(input('e g Lo o,b Jsb="))
if a< (b+c) and b<(a+c) and c<(a+b):

PrNt(" 8,5 o, Edie lgs (oo a3 0L aw ol L)
else:

PrNt('s,S e, cdie o)lg (o das 0, 4w oI L)
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g SY oS oo oolazu! wolds Slp &S aino (gg, o8 aisS Slml |, sllS.wl 5 pobai (gilxe po Slul b S3lw oo
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el 00 oo)ji 25 gz yo Al QLS b o solaul 050 slaas S e

import turtle O Camaseds Slaw iy a5 g tUrtle wbols Slgs,3
laki=turtle. Turtle() Camaseds (5,135 o
laki.shape(‘turtle’) IS ol
laki.color(* 5, 6b7) S5, ol g oy pas
laki.width(cwelxs) L laki.pensize(cwles) o8 Cwles 40,5 atin
laki.speed(ce o (goas laia) (394 3,1y e yow 338 )yl Ca s (40,5 aseino
laki.speed(‘slowest”) (] L3>l e s 0,5 asuie
laki.speed(‘slow”) (dwd ] >l e s (90,5 asuine
laki.speed(‘fast’) (o Myl g s 90,8 asiio
laki.speed(‘fastest’) (o 3 Mozl e s (0,5 asiin
laki.forward( Jwsis slows) o> G 4 &S >
laki.backward( .o slass) e Cam &y OS>
laki.left(«gl; o;laf) G G & i3>
laki.right(al; o ;) Cowly o Ay 25 >
laki.goto(x,y) XY) Slaisee 4 (SY Cosdso s
laki.pendown() (&S o o gl g 5 )oml o8 jgws
laki.penup() (S > > gl g 3 pae WYL o8 j5is
laki.write(“ L o ,50 oyie”, fONt(“Zigd b7, o;la)) e g
laki.circle(gles) 0 RS s 5
t=turtle.textinput() SY g (559,95l 2l o
laki.begin_fill() Sl S5, g9,
laki.end_fill() Sl 5, oLL
laki.hideturtle() SY b e




forward()
backward()
right()
left()
hideturtle()

stepposition( , ) = goto(, )

B b'ack
B dimaray
B dimagrey
B gray
B grey
[ darkgray
[ darkgrey
[ _ silver
lightgray
lightgrey
" gainsboro
whitesmoke
~ white
~ snow
P rosybrown
I lightcoral
B indianred
I brown
I firebrick
I maroon
B darkred
—
mistyrose
B salmon
B tomato
[ darksalmon
P coral
B orangered
[ lightsalmon
B sienna

seashell

» bisque

P darkorange

[ burlywood

‘  antiquewhite

B tan
navajowhite
blanchedaimond
papayawhip
moccasin

- orange
wheat
oldlace
floralwhite

- darkgoldenrod
[ goldenrod
comnsilk
gold
lemonchiffon
~ khaki
palegoldenrod

10 darkkhaki
ivory
beige
lightyellow
lightgoldenrodyellow
B clive
. yellow
B clivedrab
[ yellowgreen
- darkolivegreen

greenyellow

togel bas Ho s wlds

fd()
bk()
rt()
It()

ht()
setpos(, )

:COIOr oS 45 eoliiw! (gl p Sy o

I forestgreen
B iimegreen
I darkgreen
— s

B time

I scagreen

I mediumseagreen
- springgreen

mintcream
I mediumspringgreen
I mediumaquamarine
i aquamarine
I wrguoise
I lightseagreen

0 mediumturquoise
‘ azure

lightcyan
paleturgquoise

- darkslategray
B d:rkslategrey
B o

B darkcyan
S aqua

van

P darkturquoise
B cadetblue

powderblue
| lightblue
B deepskyblue
[—1 skyblue

I lightskyblue

- slategrey
I~ lightsteelblue
I comflowerblue
B royalblue

[ ghostwhite
j lavender

- midnightblue
. ey

I darkblue
I mediumblue
I o'ue

I siateblue
I darksiateblue
B mediumslateblue
B mediumpurple
I =beccapurple
I blueviolet
I ndigo

B darkorchid
I darkviolet

B mediumorchid
\ thistle
ﬂ  plum

I violet
I rurple
I darkmagenta
B fuchsia
B magenta
I orchid

B mediumvioletred

- deeppink




Name: Ali

Last Name: Bahrami
Student Code: 1234567890
Mobile: 09131111111
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Name: Ali

Name: Ali

Last Name: Bahrami
Student Code: 1234567890
Mobile: 09131111111

Last Name: Bahrami

+ Student Code: 1234567890

Mobile: 09131111111

Name: Ali
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Mobile: 09131111111
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#ollis o)l

import turtle
laki=turtle. Turtle()
laki.shape(‘turtle")
laki.color('blue’)
laki.width(3)
laki.up()
laki.goto(-300,100)
laki.down()
laki.forward(300)
laki.left(90)
laki.forward(200)
laki.left(90)
laki.forward(300)
laki.left(90)
laki.forward(200)
laki.left(90)
laki.up()
laki.color(‘black’)
laki.goto(-250,270)

(o5 b OY amio g piid 4L YA axio (o 4l PV axan) odS I8 '*

elols o )ls >b

laki.write('Name: Ali', font=("times new roman',15))

laki.goto(-250,220)

laki.write(‘'Last Name: Bahrami', font=("times new roman',15))

laki.goto(-250,170)




laki.write('Student Code: 1234567890, font=("times new roman’,15))
laki.goto(-250,120)

laki.write('Mobile: 09131111111', font=("times new roman',15))
laki.ht()

(s AL OF b g piiid 4l Y amian FAGe Gl axin) 059 9 ‘ > ~
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import turtle

laki=turtle. Turtle()

laki.shape('turtle")
laki.color('black’)
laki.width(3)
laki.speed('fast’)
laki.goto(0,0)
laki.forward(20)
laki.left(90)
laki.forward(20)
laki.left(90)
laki.forward(20)
laki.left(90)
laki.forward(20)
laki.left(90)
laki.up()
laki.goto(0,0)
laki.down()




laki.forward(40)
laki.left(90)
laki.forward(40)
laki.left(90)
laki.forward(40)
laki.left(90)
laki.forward(40)
laki.left(90)
laki.up()
laki.goto(0,0)
laki.down()
laki.forward(60)
laki.left(90)
laki.forward(60)
laki.left(90)
laki.forward(60)
laki.left(90)
laki.forward(60)
laki.left(90)
laki.up()
laki.goto(0,0)
laki.down()
laki.forward(80)
laki.left(90)
laki.forward(80)
laki.left(90)
laki.forward(80)
laki.left(90)




laki.forward(80)
laki.left(90)
laki.up()
laki.goto(0,0)
laki.down()
laki.forward(100)
laki.left(90)
laki.forward(100)
laki.left(90)
laki.forward(100)
laki.left(90)
laki.forward(100)
laki.left(90)
laki.ht()
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import turtle
lakil=turtle.Turtle()
lakil.color ( 'black’)
lakil.width(3)
lakil.left(90)
lakil.forward(100)

laki2=turtle.Turtle()
laki2.color (‘black’)
laki2.width(3)
laki2.forward(-50)
laki2.left(-90)
laki2.forward(20)

o g G s S
import turtle
lakil=turtle.Turtle()
lakil.color('black’)
lakil.width(3)
lakil.forward(100)

laki2=turtle.Turtle()
laki2.color('black’)
laki2.width(3)
laki2.left(90)
laki2.forward(100)




laki3=turtle.Turtle()
laki3.color('black’)
laki3.width(3)
laki3.forward(-50)
laki3.left(-90)
laki3.forward(20)

H) ) Crans JS a5
import turtle
lakil=turtle.Turtle()
lakil.color('black’)
lakil.width(3)

laki2=turtle.Turtle()
laki2.color('black’)
laki2.width(3)

laki3=turtle.Turtle()
laki3.color('black’)
laki3.width(3)

laki4=turtle.Turtle()
laki4.color('black’)
laki4.width(3)

lakil.penup()
lakil.goto(0,100)
lakil.pendown()
lakil.forward(200)
lakil.left(90)




lakil.forward(50)
lakil.left(-90)
lakil.forward(50)

laki2.penup()
laki2.goto(200,100)
laki2.pendown()
laki2.left(-90)
laki2.forward(50)
laki2.left(90)
laki2.forward(50)

laki3.penup()
laki3.goto(185,100)
laki3.pendown()

laki3.left(90)
laki3.forward(80)
laki3.left(-90)
laki3.forward(80)

laki4.penup()
laki4.goto(185,100)
laki4.pendown()

laki4.left(-90)
laki4.forward(80)
laki4.left(90)
laki4.forward(80)
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import turtle
laki=turtle. Turtle()
laki.shape(‘turtle)
laki.color('green’)
laki.width(3)
laki.penup()
laki.goto(-100.-100)
laki.pendown()
laki.forward(200)
laki.left(90) } LSS slaas
laki.forward(200)
laki.left(90)
laki.forward(200)
laki.left(90)
laki.forward(200)
laki.left(90)
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Horlo P e
import turtle
laki=turtle. Turtle()
laki.shape('turtle’)
laki.color('green’)
laki.width(3)
laki.forward(200)
laki.left(60)
laki.forward(200)
laki.left(60)
laki.forward(200)
laki.left(60)




laki.forward(200)
laki.left(60)
laki.forward(200)
laki.left(60)
laki.forward(200)
laki.left(60)
Horlo A oo s
import turtle
laki=turtle. Turtle()
laki.shape(‘turtle")
laki.color(‘green’)
laki.width(3)
laki.forward(200)
laki.left(45)
laki.forward(200)
laki.left(45)
laki.forward(200)
laki.left(45)
laki.forward(200)
laki.left(45)
laki.forward(200)
laki.left(45)
laki.forward(200)
laki.left(45)
laki.forward(200)
laki.left(45)
laki.forward(200)
laki.left(45)




for jeuwe A5 JSC&
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>>> for i in range(5):
print ("hello

5 "
’.!:.3! )

hello world!
hello world!
hello world!
hello world!
hello world!

1S (o0 ool (61,5 Sl jgins sl askad Gl a0 pesy (S
For i in range(4):
laki.forward(200)
laki.left(90)

(ot 2k 00 axin g piiid 4L F) asmio (ian 4l £ axin) DS, ”
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import turtle
laki=turtle. Turtle()
laki.shape(‘turtle’)
laki.color(‘green’)
laki.width(3)

for i in range (6):




laki.forward(200)
laki.left(360/6)

Hrko A o5
import turtle
laki=turtle. Turtle()
laki.shape('turtle”)
laki.color(‘green’)
laki.width(3)
for i in range (8):
laki.forward(200)
laki.left(360/8)
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import turtle
laki=turtle. Turtle()
laki.shape('turtle")
laki.color(‘black’)
laki.width(3)
laki.speed('fast’)

for j in range(20,120,20):

for i in range(4):
laki.forward(j)
laki.left(90)
laki.hideturtle()

3,5 owmgiib 5 ool &yg0 4 fOr ail>




(ot 2L 00 axio g piiid 4l T asio £ Gl ain) (S ol I 7

DS sy i gl el B aS oleaS Ly 5 IS

Sl 00l S a0 FO jis > asgli b o A 51 SCE ol s o lesal

Haz,o YO iz 4y b e A oo
import turtle

laki=turtle. Turtle()
laki.shape('turtle’)

LN
laki.color('green’)
laki.width(3)
laki.speed('fast’)
for i in range (8):
L

for j in range(4):
laki.forward(200)
laki.left(90)
laki.left(45)
laki.ht()
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laki. speed (e ) SV b e
laki.circle \:;L-..;) SYLaglh o,

laki. textinput ("2 5l y27,5W) SV Bay 53y, 51l




#5515 slass g el slass cdl o b 2lds sz a5 055
import turtle

laki=turtle. Turtle()

laki.color(‘black’)

laki.width(3)

laki.speed('fastest’)

x=int(turtle.textinput(’ edo! slass’,’ als wiz'))

y=int(turtle.textinput(’ J<s ,|,S5 slows’,’ JS& a2=))

for j in range(y):
for i in range(x):
laki.forward(100)
laki.left(360/x)
laki.left(360/y)




